
Gewichte (mg, g, kg, t)

Maßeinheiten umrechnen

Variante

Blatt

6

61

Datum:Klasse:

Name:

Quelle: www.matheaufgaben.net/arbeitsblaetter/masseinheiten-multiple-choice/gewichte-mg-g-kg-t/
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Kreuze alle richtigen Größenangaben an (es können mehrere sein)!

1 a) 0,0196 kg = ?

19600 mg

19,6 g

0,0000196 t

0,00000196 t

b) 6000 g = ?

0,6 kg

600000 mg

0,006 t

60 kg

c) 212000 mg = ?

0,0000212 t

212 g

21,2 g

0,212 kg

d) 1,26 g = ?

0,00000126 t

0,0000126 t

1260 mg

0,0126 kg

e) 1610 mg = ?

0,0161 kg

0,00000161 t

0,161 g

1,61 g

f) 96 g = ?

96000 mg

0,096 kg

0,00096 t

9600 mg

2 a) 0,0103 kg = ?

1,03 g

0,0000103 t

10300 mg

103000 mg

b) 50000 mg = ?

5 g

0,00005 t

500 g

0,05 kg

c) 1460 g = ?

0,00146 t

1,46 kg

146000 mg

0,0146 t

d) 143000 mg = ?

1,43 kg

0,00143 t

143 g

0,0000143 t

e) 1,8 g = ?

0,0000018 t

180 mg

1800 mg

0,018 kg

f) 0,0037 kg = ?

0,00000037 t

3,7 g

3700 mg

0,000037 t
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Kreuze alle richtigen Größenangaben an (es können mehrere sein)!

1 a) 0,0196 kg = ?

19600 mg

19,6 g

0,0000196 t

0,00000196 t

b) 6000 g = ?

0,6 kg

600000 mg

0,006 t

60 kg

c) 212000 mg = ?

0,0000212 t

212 g

21,2 g

0,212 kg

d) 1,26 g = ?

0,00000126 t

0,0000126 t

1260 mg

0,0126 kg

e) 1610 mg = ?

0,0161 kg

0,00000161 t

0,161 g

1,61 g

f) 96 g = ?

96000 mg

0,096 kg

0,00096 t

9600 mg

2 a) 0,0103 kg = ?

1,03 g

0,0000103 t

10300 mg

103000 mg

b) 50000 mg = ?

5 g

0,00005 t

500 g

0,05 kg

c) 1460 g = ?

0,00146 t

1,46 kg

146000 mg

0,0146 t

d) 143000 mg = ?

1,43 kg

0,00143 t

143 g

0,0000143 t

e) 1,8 g = ?

0,0000018 t

180 mg

1800 mg

0,018 kg

f) 0,0037 kg = ?

0,00000037 t

3,7 g

3700 mg

0,000037 t
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